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− !Wvc = !m hs − he( ) !Qvc = !m hs − he( )

ηs,tur =
Wreal

Wideal
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m

(he - hs)
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Wideal
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m
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(he - hs)

⇒ ss = se
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Equipamento Propriedade 
constante 1a Lei 2a Lei Outras 

informações

sss = se

Pe > Ps 

saída:_________ 
(Ps e sss)  

mistura ou vapor 
superaquecido

P
saída:_________ 

(Ps e Ts)  
vapor saturado ou 

superaquecido

P
saída:_________ 

(Ps e xs = 0)  
líquido saturado

WT

Turbina sss = se

ηs,tur =
he − hs
he − hss

!WT = !m he − hs( )

Caldeira

!Qc = !m hs − he( )

Condensador

es !Qcond = !m he − hs( )
!Qcond

s
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e
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Equipamento Propriedade 
constante 1a Lei 2a Lei Outras 

informações

s 

*para 𝜂s,b < 1, 
usar sua 

definição p/ 
calcular hs

Ps > Pe 

saída:_________ 
(Ps e sss)  

líquido comprimido

h Ps < Pe 
he

P 
P1=P2=P3

h1, h2, 

Bomba

!WB = !m hs − he( )
e

B

s
!WB =

!mve Ps − Pe( )
ηs,b

1o2o

3o

Válvula

e s
hs = he

1o

Aquecedor 
de mistura

1

23

!m3 = !m1 + !m2
!m3h3 = !m1h1 + !m2h2

1o

2o !m2 e !m3
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Equipamento Propriedade 
constante 1a Lei 2a Lei Outras 

informações

P2 = P1 
Pb = Pa

h1, h2, hb,

P he, hs

Aquecedor de 
passagem

Cogeração

e
s

!Qcog = !m he − hs( )
!Qcog

1o

1o

12

a b

!Qtc

!Qtc = !m1 h1 − h2( )

!Qtc = !ma hb − ha( ) 2o

!m1
!ma


